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Chapter 6: Variable Costing

DeAnne Company produces a single product. The company's variable costing income statement
for August appears below:

DeAnne Company
Income Statement
For the month ended August 31

ig = L{—OmeS

Sales ($15 per unit) .......ccooccoien..... $600.000 =

Variable expenses: ~ )
Variable c[:)ost of goods sold......... 360,000 = 49, 9V0 wonds = $5?/WMAL
Variable selling expense ............ 80,000

Total variable expenses........c......... 440,000

Contribution margin...........c........... 160,000 ¢ .

Fixed expenses: ) g, \uu}5 = 3/u/wj~
Fixed manufacturing ................... 105,000 — 55 Upmﬂa-u""’{
Fixed selling and administrative . 35,000

Total fixed expenses........c.cocoee. 140,000

Net operating income..................... $20.000 :

The company produced 35,000 units in August and the beginning inventory consisted of 8,000
units. Variable production costs per unit and total fixed costs have remained constant over the past
several months.

102. The value of the company's inventory on August 31 under the absorption costing method is:

A. $27,000
B. $42,000 ) #
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D. $47,000 .
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102. The value of the company's inventory on August 31 under the absorption costing method is:
A. $27,000
B. $42,000
C. $36,000
D. $47,000

Units sold = $600,000 =+ $15 pér unit = 40,000 units
Units in beginning inventory + Units produced = Units sold + Units in ending inventory

8,000 units + 35,000 units = 40,000 units + Units in ending inventory
Units in ending inventory = 8,000 units + 35,000 units - 40,000 units = 3,000 units

Variable cost of goods sold ($360,000 + 40,000 units) ............cccoeevrviinnenns $9
Fixed manufacturing overhead cost ($105,000 + 35,000 units)................. 3
Absorption costing unit product cost (a).........ccccoviiiiiniiiiiii $12
Units in ending inventory (b)..........cccoooiiv 3,000
Value of ending inventory under absorption costing (a) X (b) .................... $36,000

AACSB: Analytic

AICPA BB: Critical Thinking

AICPA FN: Measurement

Bloom's: Application

Learning Objective: 06-01 Explain how variable costing differs from absorption costing and compute unit product

‘ r each method
Level: Hard



DeAnne Company produces a single product. The company's variable costing income statement
for August appears below:

DeAnne Company
Income Statement
For the month ended August 31

Sales ($15 per unit) ......ccoceeiinnn, $600.,000
Variable expenses:

Variable cost of goods sold......... 360,000

Variable selling expense ............ 80.000
Total variable expenses.................. 440,000
Contribution margin....................... 160.000
Fixed expenses:

Fixed manufacturing ................... 105,000

Fixed selling and administrative . 35.000
Total fixed expenses...................... 140,000
Net operating income ..................... $20.000

The company produced 35,000 units in August and the beginning inventory consisted of 8,000
units. Variable production costs per unit and total fixed costs have remained constant over the past
several months.

103. Under absorption costing, for the month ended August 31, the company would report a:
A. $20,000 profit

B. $5,000 loss

C. $35,000 profit

D. $5,000 profit
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103. Under absorption costing, for the month ended August 31, the company would report a:
A. $20,000 profit

B. $5,000 loss
C. $35,000 profit
D. $5,000 profit

Variable cost of goods sold ($360,000 + 40,000 units) .........ccoevveeveniinennns $9
Fixed manufacturing overhead cost ($105,000 + 35,000 units).................. 3
Absorption costing unit product cost.........cccoooiviiiiinniiiiii 312
Sales ($15 per unit x 40,000 UNIts) .........cocoovveieererrrrernnnn. $600,000
Cost of goods sold ($12 per unit x 40,000 units)................ 480,000
Gross MAargin ........ccoiviniiiiiniiirii e 120,000
Selling and administrative expenses ($80,000 + $35,000) . 115,000
Net operating inCome .........ccccooveeviiiiiimnniniee e $ 5,000
AACSB: Analytic
AICPA BB: Critical Thinking
AICPA FN: Measurement

Bloom's: Application

Learning Objective: 06-02 Prepare income statements using both variable and absorption costing
¢ Level: Hard



Galino Company, which has only one product, has provided the following data concerning its most

recent month of operations:

Selling price .......cccoovviiiiiiinniiiniiee

Units in beginning inventory
Units produced ..........ccovvivireinininnnn,
Units s0ld ..o,

Variable costs per unit:

Direct materials ..........cccocovriiniiennininns
Direct Iabor........cccouiiiiinniiiniinee,
Variable manufacturing overhead
Variable selling and administrative

Fixed costs:

Fixed manufacturing overhead
Fixed selling and administrative

$6
g

$104,400

$13,000

| contribution margin for the month under the variable costing approach is:

A. $124,800

B. $49,400
C. $20,400
D. $143,000
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106. The total contribution margin for the month under the variable costing approach is:
A. $124,800

B. $49,400
C. $20,400
D. $143,000

Direct materials .........cc.c.ccconveeeinnnicnn $27
Direct labor.......cccocviiiiniinniinen, 11
Variable manufacturing overhead......... 6
Variable selling and administrative ...... 7
Variable expense perunit..................... $51

Selling price per unif ..........o.ccceevuveennnen. $99
Variable expense per unif..................... 51
Contribution margin per unit (a).......... $48
Units sold (b) .ocoovniiiienieeee e, 2,600
Total contribution margin (a) X (b)....... $124,800

AACSB: Analytic

AICPA BB: Critical Thinking

AICPA FN: Measurement

Bloom's: Application

Learning Objective; 06-01 Explain how variable costing differs from absorption costing and compute unit product
costs under each method

Learni jective: 06-02 Prepare income statements using both variable and absorption costing
- Level: Medium



Galino Company, which has only one product, has provided the following data concerning its most
recent month of operations;

Selling price ........ccoovviviiiiiiniiinis $99

Units in beginning inventory ..................
Units produced ...........c.ccoooivniiiiiinnnns
Units sold ...
Units in ending inventory............cc.cee.e.

Variable costs per unit:
Direct materials ..........coooeevrviiniinnnn
Direct labor......ococovviiiniiiiiinninn
Variable manufacturing overhead..........
Variable selling and administrative ....... >
Fixed costs: 'j- 2 &

Fixed manufacturing overhead.............. $104,400 — 2470 =

Fixed selling and administrative ........... $13,000
107, The total gross margin for the month under the absorption costing approach is:
A. $49,400
B. $18,200
C. $73,400
D. $124,800
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107. The total gross margin for the month under the absorption costing approach is:
A. $49,400

B. $18,200

C. $73,400

D. $124,800

Unit product cost under absorption costing:

Direct Mmaterials ....c..cooviiiiiiiiiii e $27
Direct Iabor.......cccooooiiiiiiii 11
Variable manufacturing overhead.................... 6
Fixed manufacturing overhead cost (104,400 + 2,900 units produced) ... 36
Absorption costing unit product cost............coociniiiiiiin $80
Sales ($99 per unit x 2,600 units) ...........ccooneennnnn $257,400
Cost of goods sold ($80 per unit x 2,600 units).... 208,000
GroSS MArGIN «.ooveeiiiieiiieeiiee e e $ 49,400

AACSB: Analytic

AICPA BB: Critical Thinking
AICPA FN: Measurement
Bloom's: Application

Learning Objective: 06-01 Explain how variable costing differs from absorption costing and compute unit product costs
under each method

Learni jective: 06-02 Prepare income statements using both variable and absorption costing
evel: Medium




Galino Company, which has only one product, has provided the following data concerning its most
recent month of operations:

Selling price .......ccccocovivriinniiiiniinin, $99
Units in beginning inventory.................. 0
Units produced ........ccoocevvvreninieeinee 2,900
Units SOI ...ooovvvviiiiieicccieeeer e 2,600
Units in ending inventory ...........c.o..oous 300

Variable costs per unit:

Direct materials ............ooconinniniininnn, $27
Direct labor.........cooccccnniviininiiiinin, $11
Variable manufacturing overhead.......... $6
Variable selling and administrative ....... $7

Fixed costs: . 2‘? D= q 3 é:a
Fixed manufacturing overhead.............. $104,400 = -
Fixed selling and administrative ........... $13,000

108. What is the total period cost for the month under the variable costing approach?
A. $31,200

B. $104,400

C. $117,400
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108. What is the total period cost for the month under the variable costing approach?
A $31,200

B. $104,400

C. $117,400

D. $135,600

/ariable selling and administrative $ 18,200
($7 per unit x 2,600 units sold)...........

Fixed manufacturing overhead............... 104,400

Fixed selling and administrative ............ 13,000

Total period cOStS ......ocovvieeviirerrinieane, $135,600

AACSB: Analytic

AICPA BB: Critical Thinking

AICPA FN: Measurement

Bloom's: Application

Learning Objective: 06-01 Explain how variable costing differs from absorption costing and compute unit product costs
under each method

Leamaing Qbjective; 06-02 Prepare income statements using both variable and absorption costing
Level: Hard



Galino Company, which has only one product, has provided the following data concerning its most
recent month of operations:

Selling price ......cccoccooovviinniiiiine, $99
Units in beginning inventory .................. 0
Units produced ..........ccoocoviiiniiinnicnnnns 2,900
Units sold.....ocoooiiiiii, 2,600
Units in ending inventory....................... 300

Variable costs per unit:

Direct materials .........ccocoovvieniineeinennnn, $27

Direct 1abor......c.coccovvviviviiieireninnneene $11

Variable manufacturing overhead.......... $6

Variable selling and administrative ....... $7
Fixed costs:

Fixed manufacturing overhead............. $104,400

Fixed selling and administrative ........... $13,000

109. What is the total period cost for the month under the absorption costing approach?
A. $104,400

. B. $31,200

C. $13,000
D. $135,600
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109. What is the total period cost for the month under the absorption costing approach?

A. $104,400
B. $31,200
C. $13,000
D. $135,600
Variable selling and administrative ($7 $18,200
per unit X 2,600 units)...........coceeeennnne
Fixed selling and administrative ............ 13,000
Total period CoSES ..c.cooeviiiniiniiiinnnn, $31,200

AACSB: Analytic

AICPA BB: Critical Thinking

AICPA FN: Measurement

Bloom's: Application

Learning Objective: 06-01 Explain how variable costing differs from absorption costing and compute unit product costs
under each method

Learwh ective: 06-02 Prepare income statements using both variable and absorption costing
/Level: Hard



182. Leigh Company, which has only one product, has provided the following data concerning its
most recent month of operations:

Selling price ... 3100
Units in beginning inventory..........c.ccocnnn. 300
Units produced ..........cccomrericmimnieninnennnen, 1,200
Units $old....ccovvvvievriiiiienrer e e 1,400
Units in ending inventory.......ccccovvveennnn. 100

Variable costs per unit:

Direct materialg .......cooviiiericcnnriiiiinnnns $17

Direct 1abor ..., $59

Variable manufacturing overhead............ $4

Variable selling and administrative.......... $8
Fixed costs:

Fixed manufacturing overhead............... $9,600

Fixed selling and administrative............... $1,400

The company produces the same number of units every month, although the sales in units vary
from month to month. The company's variable costs per unit and total fixed costs have been
constant from month to month.

Required:

a. What is the unit product cost for the month under variable costing?

b. What is the unit product cost for the month under absorption costing?

c. Prepare a contribution format income statement for the month using variable costing.

d. Prepare an income statement for the month using absorption costing.

e. Reconcile the variable costing and absorption costing net operating incomes for the month.



a. & b. Unit product costs

Variable costing:
Direct materials ........c..c.......ocool
Direct labor......cccovvvvevverviiniinn.
Variable manufacturing overhead........

Unit product cost........c.ooivviviiniinennnnns

Absorption costing:
Direct materials .................coooenenn,
Direct labor.........ccccooiiiiiiiiiniie,
Variable manufacturing overhead........
Fixed manufacturing overhead............

R

Unit product cost .........ccoooiiiinnnnnane

c. & d. Income statements
Variable costing income statement

‘ariable expenses:
Variable cost of goods sold ............ccccoeee.
Variable selling and administrative ...........

$140,000

$112,000
11,200 123,200

Contribution margin .........cccoooeiivnivinvvinenn,
Fixed expenses:

Fixed manufacturing overhead ..................
Fixed selling and administrative ................

16,800

1,400 11,000

Net operating inCome ..........ccoeceevrveevreceerennn

Absorption costing income statement
SAleS ..eiviiiiie e
Cost of goods sold .............coevviiiiiinininn,
Gross Margin ........coceovvvvneeeeneeerenniecee s
Selling and administrative expenses:
Variable selling and administrative ...........
Fixed selling and administrative ...............
Net operating iInCOMe ............oocvvervnnnnnnns

e. Reconciliation

Variable costing net operating income.........
Deduct fixed manufacturing overhead costs released from

inventory under absorption costing...........
Absorption costing net operating income.....

$ 5,800

$140,000
123,200
16,800

$11,200
1,400 12,600

$ 4,200

........................ $5,800

....................... $4,200

(1,600)

AACSB: Analytic; AICPA BB: Critical Thinking;AICPA FN: Measurement; Bloom's: Application; Learning Objective:

06-01 Explain how variable costing differs from absorption costing and compute unit product costs under each
method; Learning Objective: 06-02 Prepare income statements using both variable and absorption costing;
Learning Objective: 06-03 Reconcile net operating incomes and explain why the two amounts differ; Level: Hard



